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a032: Counting Numbers #5758 252 28
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Write a program that reads numbers from the keyboard into an integer array. You may assume that there will be 50 or fewer entries in the array. Your program allows any number
of numbers to be entered, up to 50 numbers. The output is to be a two-column list. The first column is a list of the distinct amray elements; the second column is the count of the
number of occurrences of each element. The list should be sorted on entries in the first column, largest to smallest.
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C: gce -std=c11(gce 5.4.0)
® CPP: g++ std=c++14(gcc 5.4.0)

TEEEE -

JAVA: OpenJDK java version 1.8.0
PASCAL: Free Pascal Compiler version 3.0.0

PYTHON: python 3.5.2
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/1@3/code_1@3.cpp:7:19: warning: multi-character character constant [-
Wmultichar]
if num == '-995°';

A
/183/code_1@3.cpp:19:11: warning: character constant too long for its type
print("%d %d' ¥ (key, _dict[key]))

/183/code_1@3.cpp:1:1: error: “import’ does not name a type
import sys
”

/183/code_183.cpp:12:1: error: expected unqualified-id before “for’
for item in 1s:
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C: gce -std=c11(gee 5.4.0)

¢ CPP: g++ -std=c++14(gcc 5.4.0)
JAVA: OpenJDK java version 1.8.0
PASCAL: Free Pascal Compiler version 3.0.0

PYTHON: python 3.5.2
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/1@5/code_1@5.cpp:1:1: error: ‘test’ does not name a type
test
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